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150,000, 000& * 14! 150,000
< 150,000
AL A (o eetnt) 63,392 67,232 A 3,840
Jledl (ol & otat) 63,392 67,232 A 3,840
Jl2Z (o & ert) 63,392 67,232 A 3,840
201 Let24d] 25,592 25,592 0
01 At 2teltl 25,592 25,592 0
O L=t 14,840
—Jilg ARESHI 100,000& 16 1,600
—Jlg E2ESHI 150, 000& 23| 300
—SANEX P 23,0003 x16% A 128 4,416
— 8T S A RAZLH(EL)
150,000 »1CH *6 2 900
—HNSAD RAZEH(EY)
330,000 *1CH x62 1,980
—dOIMERIH RXZH(EH)
237,000 »3CH x4 3 2,844
—ZetZeH EY ¥ &3 2|
1,000,000& *23l 2,000
— dXE A =& 500,000& *1CH*13] 500
— &0 g =22 25,000& x12& 300
O =&l 10,752
— ooty E2 AL
8,000 «16E »72«12& 10,752
202 04l 34,560 38,400 A 3,840
01 = LH 4 1 34,560 38,400 A 3,840
O HYSOSO0F HAADET 2ALHEH O Y
20,0003 x16H «102] x 12 *90% 34,560
203 YR =&t 3,240 3,240 0
04 FANSEHE=LH 3,240 3,240 0
O BA2Y gRF=2H 300,000& = 12& x90% 3,240




